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Solution 

1. Ans. E.  

While rearranging sentences we must keep in mind 

that the passage has a central theme or main 

subject matter. All the other sub themes are built 

around it. Here it can be clearly understood that the 

central theme is ‘Gun Violence.’ The sentence that 

introduces this to us is B. The next sentence should 

be A. Since the first sentence ended with 

mentioning a plan, the next sentence should 

definitely be about that plan. The third sentence 

should ideally be D, as it tries to find out the causes 

by criticizing the government for its inactivity. This 

sentence mentions about Gun lobby which keeps 

the government from taking any severe action and 

therefore the next sentence should be C. E can’t be 

the fifth sentence because it starts with ‘since’ 

which means it is trying to explain something that 

has been previously mentioned about ‘gun violence 

happening again.’ So the fifth sentence is F and 

sentence E is the last sentence. 

Hence, the correct sequence is BADCFE. 

2. Ans. A.  

Refer to the last question of this series. 

3. Ans. E.  

Refer to the last question of this series. 

4. Ans. B.  

Refer to the last question of this series. 

5. Ans. C.  

Refer to the last question of this series. 

6. Ans. D.  

The opening sentence is about the black hole which 

has strong gravitational effects. Sentence D builds 

the argument as to how a black hole is formed.  

Statement C and A both talk about Event Horizon 

and the use of the word 'although', a conjunction, 

depicts that CA forms a mandatory pair and that C 

precedes A as it has introduced the concept of 

Event Horizon.  

Statement B can be used after D as it continues on 

the central theme. However, there is no such 

option, which gives us B succeeding D, making B 

the last sentence of the series.  

Hence, DCAB is the correct sequence. 

7. Ans. B.  

AD is a mandatory pair. The wall (sentence A) does 

not simply divide … (but) it (sentence D) actually 

takes in … That helps us eliminate 3rd option. The 

concept of wall is first introduced in sentence B 

(chilling omission is the gigantic separation wall). 

Therefore, sentence B begins the paragraph. With 

that we can eliminate 4th option. After all, this in 

‘this wall’ of sentence E has to have ‘the wall’ 

mentioned prior to sentence E. 1st and 2nd options 

are close. But, since sentence C is more specific, it 

should come after AD. Hence, the correct answer is 

2ndoption. BADCE 

8. Ans. A.  

From the last sentence it is evident that the 

passage is about ‘peer review’ which has been 

defined in sentence A making it the first sentence of 

the passage. Sentence B defines the ultimate 

purpose and comes in the second position. 

Sentence D which defines ‘peer review’ from a 

publisher’s view point should come in the third 

position followed by the necessity of such. Hence 

the correct order is ABDC making option A the 

correct answer. 

9. Ans. B.  

S should continue after 1 as it refers to humanness 

and "it" in S refers to the 'agreed-upon definition' 

which does not exist. R follows next as it again 

talks about the attempt of defining humanness. In 

the given question, QP is a mandatory pair which is 

in the form of an idea transformation. Since Q 

introduces the concept of the component parts, 

while P refers to 'these components' in a different 

context altogether. Hence, the correct sequence is 

SRQP and option B is correct. 

10. Ans. E.  

Statement 1 should be the opening sentence of the 

series. It lays down the theme of the passage which 

is the successful running of the Indian state and 

society being dependent on the ideals of 

secularism. It is followed by A which highlights the 

existing situation of secularism coming under the 

scanner and questions being raised against its 

credibility. B elaborates on what is stated in 

statement A. The unpleasant situation being noticed 

for the first time ever since independence is the 

idea of a Hindu Rashtra being openly mooted. C 

and 2 form a pair. C states that the Supreme Court 

has expressed its ‘concerns’ with the rising threat 

to secularism. The issue mentioned here is the 

apprehension with respect to the continuation of 

the successful working of Secularism. Statement 2 

lays down the actual ‘concern’ around which the 

Supreme Court has expressed itself, i.e. the threat 

and danger of losing the ideals of secularism. Also, 

the usage of the pronoun "it" indicates that the 

Supreme Court is being talked about.  

Hence, the correct sequence is 1ABC2 and option E 

is the correct answer. 
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11. Ans. A.  

The central idea of the statement is with respect to 

the government's view regarding the war. Hence a 

is the opening segment followed by C. The word 

accord means to give, hence, the government is 

giving a low priority to something with respect to a 

war. In this case, it is the defence reforms that is 

given a low priority. Hence, B follows C and the 

correct sequence is ACBED. 

Driven by the view, that there cannot be, and will 

not be a war, the government accords a lower 

priority to the demands of the defence services, 

whether it be in budgetary support or in 

implementing major defence reforms. 

12. Ans. A.  

The correct sequence is SRQP. S explains the 

possible consequence of learning basic plant 

anatomy. It is followed by R which says what can 

one "become", the word which is stated in (S). "Not 

only" is followed by "but also" therefore R is 

followed by P, but since the object of "not only" is 

mentioned in Q, P comes after Q. Thus, the correct 

sentence after rearrangement is SRQP. 

 

13. Ans. C.  

Refer to the last sentence in the series. 

14. Ans. B. 

E is the odd one out. Part C introduces the theme. 

Part D complements C by stating the factors which 

the urban planners believe were not responsible for 

the tragedy. A introduces the factors which the 

urban planners believe were the major faults. The 

relation is clear by the ‘not…..but’ correlative. B 

states the situation that would have been had the 

factors mentioned in A been present. 

15. Ans. B. 

Statements 2, 3, 4 and 5 are on positive note, 

while statement 1 talks about the challenges. Thus, 

1 is not in tune with the statement and needs to be 

replaced by P. Thus, option A and C can be 

eliminated. 3 and 4 appear to be in a logical 

sequence where the former talks about the 

residents in general and the latter emphasizes upon 

children and farmers. Thus, P should be the first 

sentence. As the introductory sentence, P states 

the place that is being talked about in the 

successive sentences. Also, 2, which should be 

immediately followed by P, states the reason why 

Drass is turning green. 

 

*** 
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